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d Al
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M- E8 . o2l(3) - HSAY - BaS Ofl ko4 ST =2
2,598,677 1,197,622 1,401,055
& 224,000
Al 2,374,677
d Y 2 1,568,677 797,622 771,055
T 224,000
Al 1,344,677
2el(sES XA (HA) =L e SEEH) 1,568,677 797,622 771,055
= 224,000
Al 1,344,677
X sX2el 662,098 625,475 36,623
01 21244l 127,018 121,265 5,753
[2ZtHZ2Z2XSE 4+ 127,018 121,265 5,753
S3HA SFFYl 2R
91,6302 x4 Z 252 +6E 54,978
SSHA =&Y 212
208,530 x4 H 152 43 50,048
S3HA g 21RY
91,6303 4B * 152 *43| 21,992
2ot I 317,580 296,710 20,870
t22tel gl 174,700 168,350 6,350
S3HX 2T U dRH(2AI| S)
1,540,000& *203] 30,800
SEHXI(BMHA) == ZHUlUXt
10,000,000 +83] 80,000
SSHA St FEXE AXt
1,980,000& *1CH* 15 29,700
S3EA LA(HY) o5 A
1,000,000& 203 20,000
SSHX SE oHHE FAIE
500,000 4 2 x13] 2,000
SSHI HIEQIAMUAMNE =2 HET
A 500,000 x4 A *13] 2,000
SSHA HIEQAMUAMNE EXAT
ZA 1,200,000 *4 1 2= *13| 4,800
SZEH & =&Y 22X HEES P
= 500,000 *43] 2,000
DALEDON QHEBE(QHD, oHA 3}
s) 7¢ 200,000 *5H 1,000
O BT AMHSSHR JIsSAF B2 JD|ot
|l =2 200,000& =123 2,400
02 =244l 142,880 128,360 14,520
O A8AZESsSHA I3
250,000& =123 3,000
O 2dAZEsts3HA JI2s dJIe3
400,000& *12& 4,800
O 2dAZEs=s3HI L8 &R
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SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
O 2dMESssHA =5 dJIeks
40,0002 123 480
O 2gAESlssH Q-82E 4ot
=e=s 200,000& * 128 2,400
O 2dAESSes3HA LeBEY SR
el 2,000,000& 123 24,000
O 2dASSets3HA L8y 3
A HOE Stlaldz
100,000& ~ 12 1,200
O EsEHAl Haxeldy erddte| & =
X2kl 2,000,000& %52 10,000
O UEs8sH JIZ2s dlles
200,000 * 122 2,400
O HesZHI @eHIAE MRS
200,000 122 2,400
O Hels3HX Ji2s &Jles
750,000 * 122 9,000
O s3EX TV #IIS(1NR, 48 el
Biol, =S8, Ad) 100,000 = 12& 1,200
O B MUsEHN @82y FA2c
2,000,000 +62] 12,000
O 2z itdssHl 2+-82E dJIes
400,000+ 123 4,800
O EMASSHI =8I AALA
HoE selaldaz 750,000 * 122 9,000
O 2 MYSSHI II2S IS
50,0002 123 600
O 212 SSAEE |2
2,000,000 *209H 2 40,000
O 238l 22X IS HEES
40,0002 #32/*10& 1,200
O 2EXNHEH) RNHI(KSFHI, AHSIHAI,
BE2 ) 6,000,000 *1CH 6,000
202 044 7,500 7,500
01 =UWKHI 7,500 7,500
O s3HA |2l g2=d
20,0002 x5 152 +5E 7,500
206 =4l 20,000 20,000
01 =4l 20,000 20,000
O s3HAX 38 228 &€ 240 2
= 2,000,000& 10 20,000
401 AlZHIZ SO 190,000 180,000 10,000
01 AlZHI 190,000 180,000 10,000
O s8HA 4182 RA2ACISA
10,000, 0002 *6IH 2 60,000
O s3HX =X3Hl &€ E=HA 50,000
— SSHA =X =5
15,000,000 *33] 45,000
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B 2ot 24 2 29
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SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
— s3HA =X EZHA
5,000,000& *12] 5,000
O s3EX ot=HAIZ(BRd) sX2e
10,000,000 »82! 80,000
sEE SSNYAXJ (sSHRIIsEL) (HE)( 450,000 108,000 342,000
HEALS)
< 224,000
Al 226,000
401 A€ HIKL 2| 450,000 108,000 342,000
= 224,000
Al 226,000
01 AlZHI 450,000 108,000 342,000
O SEAE SEHSAE AL
450,000,000 450,000
=S 224,000
Al 226,000
s3HA JIsEZE 452,000 60,000 392,000
401 AlEHIZL SO 452,000 60,000 392,000
01 Al£HI 452,000 60,000 392,000
O 53X BBALS UL JIBAE FY) 60,000
~ 5ZOX 2 24T 24
5,000,000 +87H 2= 40,000
— =ZO JIZS SALs
20,000,000 *14! 20,000
O 24AMESssSEX 8H JUISA
200,000,000& *14] 200,000
O EZMAsSEHA JI=sA J2dE
g9 20,000,000 x 14 20,000
O STSZOR HLHE L AAHE v
=1 22,000,0002 %14} 22,000
O HB=BHX BRHSHIAL HLBA
150,000,000 *14] 150,000
Gk ])e] 4,579 4,147 432
801 OilHIH 4,579 4,147 432
01 & EH0ilBIbI 4,579 4,147 432
(@N:(ls1:] 4,579,000& 4,579
Megs 1,030,000 400,000 630,000
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HEHH = (SSXR (SR =L 22ISE3H) 1,030,000 400,000 630,000
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B ool 24 2 2
CHol: APRITHT| 22 (AIEKIZLAIRSEEI) (o mel)
S HEB . S(EH) - NRAY - BAS Ofl b T MimE=T
O A2 B2AE2 |X2a
2,000, 000& *300H 2~ 60,000
O 2Z&Hl 22X & SAE=SSRE Iy
= WLES 40,000& *33/*10H 1,200
202 (44| 7,500 7,500
01 2L H| 7,500 7,500
O MHEEX] KX L AF2e| gRFA
20,000& *5H 15U «5E 7,500
401 Al EHIZLE20HY| 192,000 150,000 42,000
01 A& H| 192,000 150,000 42,000
O M A2 S22 2AE
10,000,000& *8IH A~ 80,000
O MEEX] =X8H & &E=2HA 62,000
— AHEX] =X o=EY
25,000,000 *x23| 50,000
— QMAEX] =X ESHA
6,000,000 *23| 12,000
O A48 AHD| - HLUHNEAH 2H(4I0A) 50,000
— ANAE AN EA
5,000,000& 23] 10,000
— NEE2 HUEEY
20,000,000 *2JH 2~ 40,000
MAST] JIsES 400,000 4,388,000 A3,988,000
401 Al EHIZE204Y] 400,000 4,388,000 A3,988,000
01 Al&H| 400,000 4,372,700 N3,972,700
O MEHX SSAEZ Y JIEtAIE Fb 100,000
— AHHCX] 42 HHISAF
5,000,000& *8IH 2~ 40,000
— (MAHCT] BHEL 2Z HHISAH
5,000,000 & *8IH 2~ 40,000
— MAST] II2E SXES
20,000,000 14! 20,000
O HM2AHS X ==II2E HHIZS Al
300, 000,000& 300,000
CENE AHCHI] HAME USIALS 898,813 898,813
401 Al EHIZLE20HY| 898,813 898,813
01 A& H| 898,813 898,813
O =S HE AHCHX] M 2AgAMH (23
T AlH 222) 898,812,020 898,813
s OISU2Hel ZEAIY 960,000 960,000
401 A|EH|IZL 204 960,000 960,000
01 Al&H| 960,000 960,000
O g4l OtEC2He! 2AAIg (239 &
AlH] 222) %0, 000,000 960,000
MAHACHT] =S| BHAIA ALY 3,000,000 0 3,000,000
401 Al EHIZL 204 3,000,000 3,000,000
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A & 0l & AHSH Z Ml A
20244= 204 ASESHISESH &l
FA ARSI
Hu: 22 FH ge SX8E
Cel: MASS BN (SE3H) (B2 SHISHSIH) (c19): M2l)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
At2 S X 1t 3,203,166 3,206,641 A3,475
= 308,264
== 114,291
Al 2,780,611
=1= o8 2= =NdE 3,203,166 3,206,641 A3,475
= 308,264
< 114,291
Al 2,780,611
NASE SN (SEH)(AZTESHISLEIA) 3,203,166 3,206,641 A3,475
= 308,264
== 114,291
Al 2,780,611
=g Rat 37,225 43,998 AB,773
== 37,225
201 Zer=2d| 19,480 25,480 26,000
=S 19,480
01 At2teltl 14,480 20,480 26,000
O 24230 ga?ds 22 =&
1,440,000& 1,440
= 1,440
O 2ASHEFA J|=AtR2el]
6,040,000 6,040
= 6,040
O 2A230] Atll2el ekt 2228 2
A2Rei0l) 20,0002 x350H 7,000
= 7,000
02 35244l 5,000 5,000 0
O ©1230f 42£x 2F 2
5,000,000& 5,000
= 5,000
202 o4l 16,745 17,518 NTT3
== 16,745
01 =UWKHI 16,745 17,518 ANTT3
O 2230 g4 0l
16,745,000 16,745
== 16,745
301 Let2d= 1,000 1,000 0
= 1,000
14 J|Et2 4= 1,000 1,000 0
O 9z30f R+ NI Ba=
1,000,000 1,000
= 1,000
A=2=0 3,165,941 3,162,643 3,298
= 308,264
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Hu: 22 FH ge SX8E
CHol: HASS ol2XR(SEEH) (ARSI SHN) (cre): 2igl)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
< 77,066
Al 2,780,611
301 Let2d= 385,330 425,051 A39,721
= 308,264
== 77,066
01 AR EE X453 (S LEETHE) 385,330 425,051 A39,721
O AZdeF bl 99,052,000& 99,052
= 79,242
& 19,810
O SE=s0AIE 286,278,000 286,278
= 229,022
= 57,256
308 AXIHHMSOIA 2,780,611 2,737,592 43,019
07 HX LRSS 2,780,611 2,737,592 43,019
O 2d==00Iz NbIFE=
2,780,611,000& 2,780,611
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0248 20l& +=EHINLSERH X
SRA R == RS e
B L)

Chol: SEQEHERR(SENMSLEH) (cre): 2igl)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
S 153,000 163,000 10,000

Jl 133,000
Al 20,000
=& 2 153,000 163,000 210,000
Jl 133,000
Al 20,000
FHAFTHAUC (FEIMNLSLIA) 153,000 163,000 210,000
Jl 133,000
Al 20,000
STFH 2SSl ALY 114,000 113,000 1,000
Jl 94,000
Al 20,000
207 H=1OH | 114,000 113,000 1,000
) 94,000
Al 20,000
01 A2EHHI 114,000 113,000 1,000
O sgd=H =22g8sgad| 0ldEI S
& 94,000,000 94,000
Il 94,000
O H8Al =228l AUIHIAL
ZUHE 29 20,000,000 20,000
ST 2EEE22] At 39,000 50,000 211,000
Jl 39,000
207 H=1oH | 39,000 50,000 211,000
) 39,000
01 A4l 39,000 50,000 211,000
O &30 =22gEeze| 0/aElt
g9 39,000,000 39,000
Jl 39,000
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A= 677,795 839,479 A161,684
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SSUBFE FA(SSEHFHSLEIN) 677,795 839,479 N161,684
SSAHFE 29 & 2 677,795 839,479 N161,684
201 g2l 60,000 50,000 10,000
01 At 22l 10,000 10,000 0
O STIAUHESY 29 U A2BE 2
10,000,000 * 14! 10,000
02 =524l 50,000 40,000 10,000
O SItMtH 2eldl & Sit=
100,000 x10H 62 6,000
O Ald=E |A2c 24,000,000 24,000
O SE==4d8%=s 88
20,000,000& * 14! 20,000
307 212t01 & 70,800 69,600 1,200
SEEEEE] 70,800 69,600 1,200
O STAHFY Fep2| 98 242 S
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401 AlEHIZL S0 20,000 10,000 10,000
01 Al&H 20,000 10,000 10,000
O ZZAM 24 S 20,000,000* 14! 20,000
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01 Z2roislgl 7,220 7,220
O olbidl 7,220,000 * 14 7,220
802 gtet=JIE 519,775 702,659 A182,884
03 JIEtEtE 2 S 519,775 702,659 182,884
O ENX e s (dUEE3)
519,775,000& 519,775

_‘]‘I_




£

| H &

Al

= =
S43

&

[gd]

K]
oF
0l

N

ol

Bl

uir

o0

=

ur

<

ol

K-

6J

3!

=

or

ol
Kk

o —
mo O_x
%0

E) mm 3J
&l ﬂo ur
RO <
30 30 ol
Ho Ho K-
TEF
IF R0 O)

oo o O 1O O [ Ne) oo | o
[<2 PN N ep] Dl N BN [N NN o)
(o)} Ne)N o)} OO | © SOOI O
20 ©ol|ol|g ol | < olo|lo
E
o
[l ol Nl [l Nell Neo) o 1O [l ol Nl
~|~]|~ s |8 S
© || ©|w©o|m ol | o
War [N RN R
piled]
RIS
[N NN Ne) oO1O O (@) o o 1o |O o|lo|Oo|o o
<t | S| =t el D DR [aN] [N o |1OoO |2 [N Rel Nol K] o
O |©O|© O |N | — — [« 38 ISl IS <t | OO |O (@)
T 7] P e ] P N0 N DN =g =] P
Hﬁ O | O | O QO | O | O [e0]
(o]
<
S
= g g 9 g 2
ol X X m m (oY)
101 - S X X
e 80 | od ” 30 o
oir o $% 8 8 2
X0 ol ¥w = S o g
Py = KO m B o D m m
. ur @w o} wo = -
= =Y, ok oF
I+ Kk ol ol KJ Kl
N - 0 Ed) KF KF o
=3 ) %0 %0 oF aF =
. T T T @ o 00
= = moomo o il
ol I D ~ ~ ~ ~ ~
= a | N LI oH
] CORIEE T o o |w| |0
: 5 |3 o I Ei !
- o mfou |/ 5 e =) & ) |nofno|o S
R’ ol [RlEt By e 2138 [RIRE R
= S DO1ZD KRgo KR KE K- N K-
RO oo ur o | = B |1 U | o0 | )
- S (== © O O |alz= O |H|=|= O
T |T|rpld 3 |& | & 3|81
R -
R —
30| Ho
Ho

_‘]2_



